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world'
y= 117e 28nt

prnt( hellg' not in x)

What will he output of the above

a) True b) Falsc
) String d) set
int(' Ip’)
What will b output of the above
a) Ip b) tupie
C) errol d) sel

def absolute value{num)
I num >= ()
return num
else

relm -num

pPrint( absolute <l

uel(-4))
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a) O b4
c) -4 d)} num

What i1s python

L xplain different features and application of python

python

What are the Python Popular Frameworks and Librarnes
explain the different flavours of python.

Explain prnt() with different parameters

L LM

-.'ll*.il.

 Difference between 2/3 verston of python

| -

Name IDE of

! "ll"-“

Write\ are name of all keyword of python, Write the code 1o find

k:.'}‘“nni mn F”I’-"_‘r ter note hook

{"hi.-~::~;|fj.~H the different types of python operators with example

A
Attempt \Any Two

What are fhe different types of control stalement in python? What 1s

indentation.

Explain types of data structure like list, tuple, set, string. dictionary

used in pythen with suitable code of python.

What is a funttion in python? Wnte a program using function,
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L), | . Which of the Following is the Flavour of | 1) 1
1} Anacondait®vthon bIpypy .
¢ronpvihon (AL of th |
i In python a binary number should be wnt nrefiximg i
1) Oh B
£ ¢ih 103
:
'_::
3
- 1l Viich function is used to find the data type i python |
.!-1.1_'5{] b)datatypel)
citype() d)datal()
'\ a=""hello" " mcu" I
Ivpela)
W hat will be output of the above code”
: a) list bltuple
3 Usinng d)sel
x=2.¥"3 |
print(’x ** y =" x**¥y)
W hat will be output of the above code? 3
a) 1t b)25 ;L;;:;;_
c)/ )32
x=5. y=2 ! e
prillii"'. "-:. '_h.-'*'}']l
What will be output of the abov code?
a) | bi3
c)l d)/ 0 y
vii x=10, y=12 |
l""”"i“}.]' y s xiyy) :.':-:-:-.._ 5
What will be output of the above code? ﬁ =
_1 a) 12 b)lalse ,ﬁ, k
; c)22 d) True S




